

An Iterative Method for Symmetric Positive Semidefinite Linear System of Equations

Davod Khojasteh Salkuyeh

Faculty of Mathematical Sciences, University of Guilan

P.O. Box 1914, Rasht, Iran

email: khojasteh@guilan.ac.ir, salkuyeh@gmail.com

Abstract

In this paper, a new two-step iterative method for solving symmetric positive semidefinite linear system of equations is presented. A sufficient condition for the semiconvergence of the method is also given. Some numerical experiments are presented to show the efficiency of the proposed method.

AMS Subject Classification : 65F10.

Keywords: linear system of equations, two-step iterative method, symmetric positive semidefinite, semiconvergence, singular matrix.

1. Introduction

Consider the linear system of equations

$$Ax = b, \tag{1}$$

where $A \in \mathbb{R}^{n \times n}$ is singular and $x, b \in \mathbb{R}^n$ with b known and x unknown. We assume that the system (1) is solvable, i.e., it has at least one solution. We frequently meet these kind of linear systems when we solve the actual problems in statistics, economics, differential equations, image and signal processing. For example, finite difference formulations of the Neumann problem and those for elastic bodies with free surfaces and Poisson's equation on a sphere and with periodic boundary conditions result in singular linear system of equations [2]. Also, the stationary probability distribution vector of a finite homogeneous Markov chain is a solution of a singular linear system of equations [10, 2]. Motivated by work in this area, we focus our attention on linear system of equations with symmetric positive semidefinite coefficient matrix and propose a two-step stationary iterative method for solving (1).

If A is split into $A = M - N$, where M is nonsingular, then a stationary iterative method for solving (1) can be described as follows

$$x_{m+1} = M^{-1}Nx_m + M^{-1}b, \quad m = 0, 1, \dots \tag{2}$$

Here the matrix $T = M^{-1}N$ is called the iteration matrix of the method. It is well known that for nonsingular systems the iterative method (2) is convergent if the spectral radius of T is less than 1, i.e., $\rho(T) < 1$. In this case, for any initial guess x_0 the method converges to the exact solution of (1) [1, 2, 6, 7, 12]. For singular systems the method is called semiconvergent if (2) converges to a solution of (1) for every initial guess x_0 . By [2], it is well known that the iterative method (2) is semiconvergent if and only if

- $\rho(T) = 1$;
- $\text{index}(I - T) = 1$, which means that $\text{rank}(I - T) = \text{rank}(I - T)^2$;
- If $\mu \in \sigma(T)$ with $|\mu| = 1$, then $\mu = 1$, i.e., $v(T) = \{|\mu|, \mu \in \sigma(T), \mu \neq 1\} < 1$, where $\sigma(T)$ is spectrum of T .

The semiconvergence of the the iterative method (2) has been investigated in many papers (from example see [3, 5, 11, 15]). Several theorems concerning semiconvergence of (2) have been presented by Song in [11]. Also, semiconvergence of extrapolated iterative methods have been discussed in [9, 10, 15].

This paper is organized as follows. In section 2, the new method is presented and its semiconvergence and its convergence properties are given. Numerical experiments are given in section 3. Section 4, is devoted to some concluding remarks.

2. New method and its semiconvergence properties

Let A be a symmetric positive semidefinite matrix. We write Eq. (1) in the following form

$$\alpha x + \beta x + Ax = (\alpha + \beta)x + b,$$

where $\alpha, \beta \in \mathbb{R}$. Then, we define the iterative procedure

$$(\alpha I + A)x_{m+1} = (\alpha + \beta)x_m - \beta x_{m-1} + b, \quad m = 1, 2, \dots, \quad (3)$$

where x_0 and x_1 are two initial guesses and I is the identity matrix of order n . Let $\alpha > 0$. In this case, the matrix $\alpha I + A$ is symmetric positive definite and therefore, (3) can be written in the form

$$x_{m+1} = (\alpha I + A)^{-1}((\alpha + \beta)x_m - \beta x_{m-1} + b), \quad m = 1, 2, \dots \quad (4)$$

By some simple manipulation it can be seen that the $(m + 1)$ -th iteration of this procedure can be written as

$$\begin{cases} y_m = (\alpha I + A)^{-1}((\beta I - A)x_m - \beta x_{m-1} + b), \\ x_{m+1} = x_m + y_m, \end{cases}$$

which is equivalent to

$$\begin{cases} y_m = (\alpha I + A)^{-1}(r_m + \beta(x_m - x_{m-1})), \\ x_{m+1} = x_m + y_m, \end{cases} \quad (5)$$

where $r_m = b - Ax_m$. In [8], Salkuyeh and Fahim have used this procedure for refining an approximate solution of a symmetric positive definite linear system of equations. Next, we discuss the semiconvergence of the proposed method for solving (1) with symmetric positive semidefinite coefficient matrix A . We first present the following lemma which is similar to Lemma 5.8 in [1].

Lemma 1. *The second-degree equation $z^2 - rz + s = 0$, where r and s are real, has roots z_1 and z_2 with maximum moduli $z_0 = \max\{|z_1|, |z_2|\} \leq 1$ if and only if $|s| \leq 1$ and $|r| \leq 1 + s$.*

Proof. Assume first that $z_0 \leq 1$. Then, from $z_1 z_2 = s$ we have

$$|s| = |z_1||z_2| \leq z_0^2 \leq 1.$$

Now we consider two following cases:

Case 1. If $r^2 < 4s$, then

$$|r| < 2\sqrt{s} \leq 1 + s.$$

Case 2. If $r^2 \geq 4s$, then

$$z_0 = \frac{1}{2}|r| + \frac{1}{2}|r^2 - 4s|^{\frac{1}{2}}.$$

We claim that $|r| \leq 1 + s$. Otherwise $|r| > 1 + s$, and we have

$$\begin{aligned} z_0 &= \frac{1}{2}|r| + \left| \left(\frac{r}{2}\right)^2 - s \right|^{\frac{1}{2}} \\ &> \frac{1}{2}(1 + s) + \left| \left(\frac{1 + s}{2}\right)^2 - s \right|^{\frac{1}{2}} \\ &= 1, \end{aligned}$$

which is a contradiction.

Conversely, assume that $|s| \leq 1$ and $|r| \leq 1 + s$. Then

$$\begin{aligned} z_0 &= \frac{1}{2}|r| + \left| \left(\frac{r}{2} \right)^2 - s \right|^{\frac{1}{2}} \\ &\leq \frac{1}{2}(1+s) + \left| \left(\frac{1+s}{2} \right)^2 - s \right|^{\frac{1}{2}} \\ &= \frac{1}{2}(1+s) + \frac{1}{2}|1-s| \\ &= 1. \end{aligned}$$

So the proof is completed. \square

Now, we state and prove the following theorem.

Theorem 1. *Let A be a symmetric positive semidefinite matrix and $\alpha > 0$. Then the iterative method defined by (5) is semiconvergent with any initial guesses x_0 and x_1 if $|\beta| < \alpha$.*

Proof. Consider the iterative method (5) and suppose that

$$w_{m+1} = \begin{pmatrix} x_{m+1} \\ x_m \end{pmatrix}.$$

Then, we have

$$w_{m+1} = \begin{pmatrix} (\alpha + \beta)(\alpha I_n + A)^{-1} & -\beta(\alpha I_n + A)^{-1} \\ I_n & 0 \end{pmatrix} w_m + \begin{pmatrix} (\alpha I_n + A)^{-1} b \\ 0 \end{pmatrix},$$

or

$$w_{m+1} = \mathcal{A}w_m + \mathcal{C}, \quad m = 0, 1, \dots, \quad (6)$$

where

$$\mathcal{A} = \begin{pmatrix} (\alpha + \beta)(\alpha I_n + A)^{-1} & -\beta(\alpha I_n + A)^{-1} \\ I_n & 0 \end{pmatrix}, \quad \mathcal{C} = \begin{pmatrix} (\alpha I_n + A)^{-1} b \\ 0 \end{pmatrix},$$

in which I_n is the identity matrix of order n . It is easy to see that characteristic polynomial of \mathcal{A} can be written as

$$\prod_{\lambda \in \sigma(\mathcal{A})} \det \begin{pmatrix} \frac{\alpha + \beta}{\alpha + \lambda} - \mu & -\frac{\beta}{\alpha + \lambda} \\ 1 & -\mu \end{pmatrix} = 0,$$

where $\mu \in \sigma(\mathcal{A})$ (see [1], page 173). This relation shows that for every $\lambda \in \sigma(A)$ we have

$$\mu^2 - \gamma\mu + \delta = 0, \quad (7)$$

where

$$\gamma = \frac{\alpha + \beta}{\alpha + \lambda}, \quad \delta = \frac{\beta}{\alpha + \lambda}.$$

Since the eigenvalues of A are nonnegative, from $|\beta| < \alpha$ we obtain

$$|\delta| = \frac{|\beta|}{\alpha + \lambda} < \frac{\alpha}{\alpha + \lambda} \leq 1,$$

and

$$|\gamma| = \left| \frac{\alpha + \beta}{\alpha + \lambda} \right| \leq \frac{\alpha + \beta}{\alpha + \lambda} = \frac{\alpha}{\alpha + \lambda} + \frac{\beta}{\alpha + \lambda} \leq 1 + \delta,$$

Hence, according to Lemma 1, we have

$$\max\{|\mu_1|, |\mu_2|\} \leq 1, \tag{8}$$

where μ_1 and μ_2 are the roots of (7). Now, let

$$\mu = e^{i\theta} = \cos \theta + i \sin \theta$$

be a root of (7) where i is the imaginary unit. Substituting this into Eq. (7), yields

$$\sin 2\theta - \gamma \sin \theta = 0, \tag{9}$$

and

$$\cos 2\theta - \gamma \cos \theta + \delta = 0, \tag{10}$$

where $0 \leq \theta < 2\pi$. From (9), it follows that

$$\sin \theta = 0, \quad \text{or} \quad \cos \theta = \frac{\gamma}{2}.$$

If $\cos \theta = \frac{\gamma}{2}$, then from (10) we see that

$$2 \cos^2 \theta - 1 - \gamma \cos \theta + \delta = 0 \Rightarrow \delta = 1.$$

But, δ cannot be equal to 1, since from $|\beta| < \alpha$ and $\lambda \geq 0$, we have

$$|\delta| = \frac{|\beta|}{\alpha + \lambda} < 1.$$

Now let $\sin \theta = 0$. In this case $\mu = \cos \theta = \pm 1$. If $\mu = -1$, then from (7), we have $1 + \gamma + \delta = 0$, which is impossible, since $\gamma \geq 0$ and $\delta \geq 0$. Therefore, $\rho(\mathcal{A}) = 1$ and if $|\mu| = 1$, then $\mu = 1$, i.e., $v(\mathcal{A}) < 1$.

Now, it is enough to show that $\text{index}(I - \mathcal{A}) = 1$, or equivalently $\text{rank}(I - \mathcal{A}) = \text{rank}(I - \mathcal{A})^2$. Let $p = 2n$. We have

$$\begin{aligned} I_p - \mathcal{A} &= \begin{pmatrix} I_n - (\alpha + \beta)(\alpha I_n + A)^{-1} & \beta(\alpha I_n + A)^{-1} \\ -I_n & I_n \end{pmatrix} \\ &= \begin{pmatrix} (\alpha I_n + A)^{-1}(A - \beta I_n) & \beta(\alpha I_n + A)^{-1} \\ -I_n & I_n \end{pmatrix} \\ &= \begin{pmatrix} (\alpha I_n + A)^{-1} & 0 \\ 0 & I_n \end{pmatrix} \begin{pmatrix} A - \beta I_n & \beta I_n \\ -I_n & I_n \end{pmatrix}, \end{aligned} \quad (11)$$

where I_r is the identity matrix of order r . Let

$$\mathcal{S} = \begin{pmatrix} (\alpha I_n + A)^{-1} & 0 \\ 0 & I_n \end{pmatrix}, \quad \mathcal{T} = \begin{pmatrix} A - \beta I_n & \beta I_n \\ -I_n & I_n \end{pmatrix}.$$

Since \mathcal{S} is a nonsingular matrix, from (11) we have

$$\begin{aligned} \text{rank}(I_p - \mathcal{A}) &= \text{rank}(\mathcal{S}\mathcal{T}) \\ &= \text{rank} \begin{pmatrix} A - \beta I_n & \beta I_n \\ -I_n & I_n \end{pmatrix} \\ &= \text{rank} \begin{pmatrix} A & \beta I_n \\ 0 & I_n \end{pmatrix} \\ &= n + \text{rank}(A). \end{aligned}$$

On the other hand,

$$\text{rank}(I - \mathcal{A})^2 = \text{rank}(\mathcal{S}\mathcal{T}\mathcal{S}\mathcal{T}) = \text{rank}(\mathcal{T}\mathcal{S}\mathcal{T}).$$

Straightforward computation reveals that

$$\mathcal{T}\mathcal{S}\mathcal{T} = \begin{pmatrix} (A - \beta I_n)(\alpha I_n + A)^{-1}(A - \beta I_n) - \beta I_n & \beta(A - \beta I_n)(\alpha I_n + A)^{-1} + \beta I_n \\ -(\alpha I_n + A)^{-1}(A - \beta I_n) - I_n & -\beta(\alpha I_n + A)^{-1} + I_n \end{pmatrix}.$$

Since $A - \beta I_n$ commutes with $(\alpha I_n + A)^{-1}$, it follows that

$$\begin{aligned} \mathcal{T}\mathcal{S}\mathcal{T} &= \begin{pmatrix} (\alpha I_n + A)^{-1}(A - \beta I_n)^2 - \beta I_n & \beta(\alpha I_n + A)^{-1}(A - \beta I_n) + \beta I_n \\ -(\alpha I_n + A)^{-1}(A - \beta I_n) - I_n & -\beta(\alpha I_n + A)^{-1} + I_n \end{pmatrix} \\ &= \begin{pmatrix} (\alpha I_n + A)^{-1} & 0 \\ 0 & (\alpha I_n + A)^{-1} \end{pmatrix} \\ &\quad \times \begin{pmatrix} (A - \beta I_n)^2 - \beta(\alpha I_n + A) & \beta(A - \beta I_n) + \beta(\alpha I_n + A) \\ -(A - \beta I_n) - (\alpha I_n + A) & -\beta + (\alpha I_n + A) \end{pmatrix} \end{aligned}$$

$$\begin{aligned}
&= \begin{pmatrix} (\alpha I_n + A)^{-1} & 0 \\ 0 & (\alpha I_n + A)^{-1} \end{pmatrix} \\
&\quad \times \begin{pmatrix} A^2 - 3\beta A + \beta(\beta - \alpha)I_n & 2\beta A + \beta(\alpha - \beta)I_n \\ -2A + (\beta - \alpha)I_n & A + (\alpha - \beta)I_n \end{pmatrix}
\end{aligned}$$

Assume that R_i and C_i denote the i th block-row and block-column of the matrix \mathcal{A} , respectively. Then, we have

$$\begin{aligned}
\text{rank}(\mathcal{TST}) &= \text{rank} \begin{pmatrix} A^2 - 3\beta A + \beta(\beta - \alpha)I_n & 2\beta A + \beta(\alpha - \beta)I_n \\ -2A + (\beta - \alpha)I_n & A + (\alpha - \beta)I_n \end{pmatrix} \xrightarrow{R_1 := R_1 - \beta R_2} \\
&= \text{rank} \begin{pmatrix} A^2 - \beta A & \beta A \\ -2A + (\beta - \alpha)I_n & A + (\alpha - \beta)I_n \end{pmatrix} \xrightarrow{C_1 := C_1 + C_2} \\
&= \text{rank} \begin{pmatrix} A^2 & \beta A \\ -A & A + (\alpha - \beta)I_n \end{pmatrix} \xrightarrow{C_2 := C_1 + C_2} \\
&= \text{rank} \begin{pmatrix} A^2 & \beta A + A^2 \\ -A & (\alpha - \beta)I_n \end{pmatrix} \xrightarrow{C_1 := C_1 + \frac{1}{\alpha - \beta} A \times C_2} \\
&= \text{rank} \begin{pmatrix} A^2(\frac{\alpha}{\alpha - \beta}I_n + A) & \beta A + A^2 \\ 0 & (\alpha - \beta)I_n \end{pmatrix} \\
&= n + \text{rank}(A^2) \\
&= n + \text{rank}(A).
\end{aligned}$$

Here, it is mentioned that $\text{rank}(A) = \text{rank}(A^2)$ and $\alpha - \beta \neq 0$. Therefore, the proof of this theorem is completed. \square

For $\beta = 0$, Eq. (5) is reduced to

$$\begin{cases} y_m = (\alpha I + A)^{-1} r_m, \\ x_{m+1} = x_m + y_m. \end{cases} \quad (12)$$

which is equivalent to the method presented by Wu et al. in [13] for refining an approximate solution of ill-conditioned symmetric positive definite linear system of equation. According to Theorem 1, this method is semiconvergent with any initial guess x_0 for symmetric positive semidefinite linear system of equations. In practice, for an initial guess x_0 , we first compute x_1 using (12) and then x_m , $m = 2, 3, \dots$, are computed via (5). Moreover, the computation of y_m in (12) are done by the Cholesky factorization of $\alpha I + A$.

3. Numerical experiments

All the numerical results presented in this section were computed by a MATLAB code in double precision. We use

$$\frac{\|r_m\|_2}{\|r_0\|_2} < 10^{-10},$$

as the stopping criterion, where $r_k = b - Ax_k$. For each example, we report the forward stability factors (see [4], for more details) for the computed solutions x_m and the exact solution x_* to (1), i.e.

$$\eta_m = \frac{\|x_m - x_*\|_2}{\kappa(A)\|x_*\|_2},$$

where

$$\kappa(A) = \|A\|_2 \|A^\dagger\|_2, \quad (13)$$

in which A^\dagger is the pseudoinverse (the Moore-Penrose inverse) of A [6].

Example 1. Consider the linear system of equations $Ax = b$, where

$$A = \begin{pmatrix} 3 & 1 & 0 & 0 & 1 \\ 1 & 4 & 1 & 1 & 1 \\ 0 & 1 & 1 & 1 & 1 \\ 0 & 1 & 1 & 1 & 1 \\ 1 & 1 & 1 & 1 & 3 \end{pmatrix}, \quad b = \begin{pmatrix} 5 \\ 8 \\ 4 \\ 4 \\ 7 \end{pmatrix}.$$

The matrix A is symmetric positive semidefinite with $\kappa(A) = 9.90$ and $b = A(1, 1, 1, 1, 1)^T$. Hence, this system is solvable and $x_* = (1, 1, 1, 1, 1)^T$ is a solution of this system. Let x_0 be the zero vector, $\alpha = 0.5$ and $\beta = 0.1$. In this case, the method is semiconvergent in 17 iterations, and the approximate solution is

$$x_{17} = \begin{pmatrix} 0.99999999966640 \\ 1.00000000029093 \\ 0.99999999942429 \\ 0.99999999942429 \\ 1.00000000050225 \end{pmatrix}.$$

Here we have $\eta_{17} = 4.76 \times 10^{-11}$. For the same initial guess, $\alpha = 0.5$ and $\beta = 0$ the method is semiconvergent in 25 iterations,

$$x_{25} = \begin{pmatrix} 0.99999999965409 \\ 1.00000000030173 \\ 0.99999999940301 \\ 0.99999999940301 \\ 1.00000000052074 \end{pmatrix}.$$

and we have $\eta_{25} = 4.94 \times 10^{-11}$.

We now change the entry $(1, 1)$ of A to 10^6 . In this case, we have $\kappa(A) = 1.17 \times 10^6$. All of the other assumptions are as before. The method with $\alpha = 0.5$ and $\beta = 0.1$ is semiconvergent in 7 iterations, and the computed solution is

$$x_7 = \begin{pmatrix} 1.0000000004902 \\ 0.99998472311991 \\ 1.00004250039264 \\ 1.00004250039264 \\ 0.99996625348584 \end{pmatrix}.$$

Here, the forward stability factor is $\eta_7 = 2.70 \times 10^{-11}$. If we set $\alpha = 0.5$ and $\beta = 0$ then the method is semiconvergent in 9 iterations and we have $\eta_9 = 2.52 \times 10^{-11}$. Moreover, the provided approximate solution by the proposed method is

$$x_9 = \begin{pmatrix} 0.9999999995425 \\ 1.00001594593278 \\ 0.99996004378370 \\ 0.99996004378370 \\ 1.00002979926269 \end{pmatrix}.$$

An observation which can be posed here is that the computed solution for the latter system of linear equations is less accurate than the previous one, since it is more ill-conditioned.

Example 2. Consider the $n \times n$ matrix

$$A = \begin{pmatrix} 1 & 1 & 1 & & & & \\ 1 & 2 & 2 & 1 & & & \\ 1 & 2 & 3 & 2 & 1 & & \\ & \ddots & \ddots & \ddots & \ddots & \ddots & \\ & & 1 & 2 & 3 & 2 & 1 \\ & & & 1 & 2 & 3 & 2 \\ & & & & 1 & 2 & 2 \end{pmatrix}.$$

It can be seen that this matrix is symmetric positive semidefinite for every $n \in \mathbb{N}$. Let $b = A(1, 1, \dots, 1)^T$. In this case, $x_* = (1, 1, \dots, 1)^T$ is a solution of the system $Ax = b$. The condition number of A , number of iterations for the semiconvergence (denoted by “Iters”), and the corresponding forward stability factor of the proposed method with $(\alpha, \beta) = (0.5, 0.45)$ and $(\alpha, \beta) = (0.5, 0)$ for four values of n are given in Table 1. All of the assumptions are as the previous

Table 1: Numerical results for Example 2.

n	20	40	60	80
$\kappa(A)$	4.80×10^2	1.99×10^3	4.52×10^3	7.77×10^3
Iters ($\beta = 0$)	385	908	2649	4202
η_m	9.26×10^{-11}	9.71×10^{-11}	9.81×10^{-11}	9.86×10^{-11}
Iters ($\beta = 0.45$)	148	150	204	318
η_m	9.16×10^{-11}	2.03×10^{-11}	9.25×10^{-11}	9.66×10^{-11}

example. For $n = 40$, we have found that the system has an another solution of the form

$$\tilde{x}_* = \frac{1}{27} (26 \ 27 \ 28 \ 26 \ 27 \ 28 \ \dots \ 26 \ 27 \ 28 \ 26)^T \in \mathbb{R}^{40},$$

and the method with the zero initial guess converges to it. Now let

$$x_0 = (0 \ 1 \ 0 \ 1 \ \dots \ 0 \ 1)^T \in \mathbb{R}^{40}.$$

In this case, with $(\alpha, \beta) = (0.5, 0.45)$ the method converges to x_* in 186 iterations ($\eta_{186} = 3.83 \times 10^{-11}$) and with $(\alpha, \beta) = (0.5, 0)$ it converges in 1398 iterations ($\eta_{1398} = 4.86 \times 10^{-11}$). As we observe the proposed method is quite suitable for linear system of equations with symmetric positive semidefinite coefficient matrix. Moreover the proposed method is superior to the method proposed by Wu et al. in [13].

Example 3. Let

$$B = \begin{pmatrix} 0 & 1 & & & & \\ q & 0 & p & & & \\ 0 & q & 0 & p & & \\ & & \ddots & \ddots & \ddots & \\ & & & q & 0 & p \\ & & & & 1 & 0 \end{pmatrix} \in \mathbb{R}^{n \times n},$$

where $p, q > 0$ and $p + q = 1$. This matrix is singular (see [15]). We assume that $A = 10^6 e_1 e_1^T + B^T B$, where e_1 is the first column of the identity matrix of order n , $b = A(1, 1, \dots, 1)^T$, and $p = 0.5$. Therefore $x_* = (1, 1, \dots, 1)^T$ is a solution of this system. Obviously, A is symmetric positive semidefinite. Number of iterations (“Iters”) for the semiconvergence with $\alpha = 0.5$ and three values of

Table 2: Numerical results for Example 3.

n	$\kappa(A)$	Iters (η_m)		
		$\beta = 0$	$\beta = 0.2$	$\beta = 0.4$
500	1.01×10^{11}	215(4.34×10^{-14})	129(4.35×10^{-14})	42(4.41×10^{-14})
1000	4.05×10^{11}	215(7.67×10^{-15})	129(7.68×10^{-15})	42(7.79×10^{-15})
1500	9.11×10^{11}	215(2.78×10^{-15})	129(2.78×10^{-15})	42(2.83×10^{-15})
2000	1.62×10^{12}	215(1.36×10^{-15})	129(1.36×10^{-15})	42(2.38×10^{-15})

β ($= 0, 0.2$ and 0.4) are given in Table 2. The condition number of the matrices and the forward stability factors (in parenthesis) are also presented in this table. As we see the systems of linear equations are very ill-conditioned and the method is quite suitable to solve them.

4. Conclusion

In this paper, we have presented a new two-step iterative method for solving system of linear equations with symmetric positive semidefinite coefficient matrix. The proposed method involves two parameters and we have found a region for the semiconvergence of the method. Numerical results presented in this paper show that the method is efficient.

Acknowledgments

The author would like to thank the anonymous referee for his/her insightful and helpful comments which substantially improved the quality of the paper.

References

- [1] O. Axelsson, *Iterative solution method*, Cambridge University Press, Cambridge, 1996.
- [2] A. Berman and R. J. Plemmons, *Nonnegative matrices in the mathematical Sciences*, Academic press, New York, 1979.
- [3] Z. H. Cao, *Semiconvergence of extrapolated iterative methods for singular linear systems*, Appl. Math. Comput., **156** (2004) 131-136.

- [4] N. J. Higham, *Accuracy and stability of numerical algorithms*, Second edition, SIAM, Philadelphia, 2002.
- [5] H. B. Keller, *On the solution of singular and semidefinite linear systems by iteration*, J. Society and Applied Mathematics, 2 (1965) 281-290.
- [6] C. D. Meyer, *Matrix analysis and applied linear algebra*, SIAM, Philadelphia, 2004.
- [7] Y. Saad, *Iterative methods for sparse linear systems*, PWS press, New York, 2000.
- [8] D. Khojasteh Salkuyeh and A. Fahim, *A new iterative refinement of the solution of ill-conditioned linear system of equations*, International Journal of Computer Mathematics, **88** (2011) 950-956.
- [9] Y. Song and L. Wang, *On the Semiconvergence of extrapolated iterative methods for singular linear systems*, Appl. Numer. Math., **44** (2003) 401-413.
- [10] Y. Song, *Semiconvergence of extrapolated iterative methods for singular linear systems*, J. Comput. Appl. Math., **106** (1999) 117-129.
- [11] Y. Song, *Semiconvergence of nonnegative splittings for singular matrices*, Numer. Math., **85** (2000) 109-127.
- [12] R. S. Varga, *Matrix iterative analysis*, Prentice-Hall, Englewood Cliffs, NJ, 1962.
- [13] X. Wu, R. Shao and Y. Zhu, *New iterative improvement of solution for an ill-conditioned system of equations based on a linear dynamic system*, Computers and Mathematics with Applications, **44** (2002) 1109-1116.
- [14] L. Wang, *Equivalent conditions for the convergence of extrapolated method for linear systems*, Appl. Math. Comput., **184** (2007) 917-923.
- [15] L. Wang and Y. Song *On the optimization of extrapolation methods for singular linear systems*, Journal of Computational Mathematics, 26 (2008) 227-239.